if (debug) {sprintf(errmsg, "%d, %d ", loAdc,hiAde); printfMessage(errmsg);}
if (pedestal_subtraction_flag != @) { 1
1oAdc -= pedestal_val[bs_index+baseIndex+samp];
hiAdc -= pedestal_val[b baseIndex+samp+1];
if(pedestal_val[bs_index+baseIndex+samp]<600 || pedestal_vallbs_index+baseIndex+samp+1]<400 ||

[ J ® [ ] [ J [ J [ J 276
27 for (samp = startSample; samp < startSample+16 & samp < 64; samp += 2) {
278 int16_t loAdc = swapEndian(ch_det_buf_in[pos]) & OxFFF;
279 int16_t hiAdec = (swapEndian(ch_det_buf_in[pes]) >> 16) & OxFFF;
28, N

* Position loss due to corrupt datais still =
under investigation. This is probably not = =sisissass e
the main source of the missing hits. i

* The special case of hits that span two
windows had a problem causing loss of
position. This has been fixed in v3.3
candidate. et oo = 10

if (debug)

* Another bug was the check for data ! corinttierrmsg, "SI ALd b1t M4 dncorres
corruption related to windowspan | sprintflermsg,“\thad totlits = Ald, chs
cases. Will be fixed in 3.4. tothits = it - it

] while (swapEndian(ch_det_buf_in[pos]) != @

E[xing both issues, restores the missing
ItS.

poOS++;
¥

if (debug) {sprintf(errmsg,"stopped at worc
ProcessPacketProblemCounter++;

//pos++;

break;

//continue;




PCled40 FE Dead time

* The dead time observed by Harsh is under investigation. Dead
time is not distributed near uniformly between TOP boardstacks.
We have three candidates main for explanation in terms of
likelihood:

* One or more TOP boardstacks due to bad analogue threshold or some
other reason generate too much noise and saturate the connection.

* Individual channel problems on the PCle40 board or computer.

* The shared memory space forthe TOP data on PCle40 is filled and
through an unknown mechanism an asymmetric backpressure creates
dead time on individual TOP boardstacks.
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